1.

x=3.102¢ o], 1000x — 100x 2] gt-& FL5}oi g}

B
2



2. 3 x(3)? =34 x9 g Fstoiet



o AR5

=
K

o4 a7t b she?

@ -2x>-4

@ x>2x+2



e 7t 247}
oltt. el o
dol A45 FHAe BT
o, B 28 oY
ofe}

Y

1}

o

o}
E

)
|
my ol

O N rlo ax

=
T

HT
o

gual

o)

=
=

o

A]

>
P <6

<6




3.75 & 7]FE4 = UEhiofet,

Fa

e



6. of® Mol A 222 -3x % Wlojo} & 21 F2ko] HoteAEl Y 2x? 1 5
7SI, vhE A AXSHS The] e

@ 2x% - 3x @ 2x% -bx ® 6x2 + 5x

@ 6x%+11x ® 6x% - 15x



3
-—a

4

1
—a

2

©)



(a+3) (-2a) & 2090 @ A4 @9 AT x, 0 o] ASE
SR, x+y o] GLE?

©-12  ©-6 ® -1 @ 6 ® 12



9. x(y+3x)-y(2x+1)-2(x*—xy-4) & 7tHs] st wl, x* o] A2t
xy & A2l 27

D1 @ -1 ® 2 @ -2 ® 4



10. (2x+3)(3x-1) =Ax*+Bx+ColA d5 A, B, CY FA+B+C
o] #h2?

® -10 @ -5 @0 @ 5 ® 10



11.

(3a—26)(2a + b) © A NA, ab o] A4

@® -3 @ -1 ® 0 @ 1



12. Bx+a)(4x-5) = 12x*> + bx - 109X a, b7} AL W, a + b 2]
Ry

® -5 @ -4 ® -3 @ -2 ® -1



13. 3<a<7¥9 U, A<-4da-1<BtT 3t} o] wf, A+ B 2] 3re?

@® 10 @ -10 ® 18 @ -18 ® 21



i
=




® 2x(3x—6) = 6x% — 6x
@ 3x(2x—3y) = 2y(x +y) = 622 — 11xy — 2y?

® —x(x-y+2)+3y2x+y+4) = —x2 4+ Txy — 2x + 3y? + 12y



Aol o] B4 Fol A BB} 2uo0lm §RAFR L 4

3
N1 —
14-4
A
T

M



